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OBE

Attempt any FOUR question. MARKS

1 For the welded bracket shown in figure below, determine the greatest safe load that  [123]
can be applied at a distance of 120mm from flanges of column. The size of weld is

6mm. Assume shop weld.
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2 Design the member consists of a single angle to carry a tensile force of 200kN. [122]
The length of tension member is 3.5m and subjected to reversal stresses due to
wind forces. If the yield strength and the ultimate strength of the steel used are
250MPa and 410MPa and using 18mm bolts.
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3  Asingle unequal angle 100 X 75 X6 mm is connected to a 8mm thick gusset plate [122]
at the ends by 4mm welds as shown in figure Fig Q3. Determine the design tensile
strength of the angle if the gusset is connected to the 100mm leg. The yield strength
and ultimate strength of the steel used are 250MPa and 400MPa.

4  Calculate the compressive resistance of a compound column consisting of ISHB [122]
300 with one cover plate of 350 x 20 mm on each flange and having a length of 5m
as shown in figure Fig Q4. Assume that the bottom of the column is fixed and top is
rotation fixed, translation free and fy = 250 MPa.
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5  Design a built up column consisting of two channel section placed back to back [12%]
carrying an axial factored load of 1400kN. Effective length of column is 5m. Also
design single lacing system.
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